SplashLearn

Estimate the Answer

Choose the best estimate for the given division sentences.

@ 28 +7is4.What is the best estimate for 2,799 + 7?

o 400 040 070 o 700

()

54 + 6is 9. What is the best estimate for 54,009 + 6?

0 9,000 0 90 o 60 o 600

®

49 +7is 7.What is the best estimate for 48,999 + 7?

o 700 o 700,000 o 7,000 o 7,000,000

45+ 5is 9. What is the best estimate for 4,511 + 9?

o 500 o 50 o 900 o 90

99 +=11is 9. What is the best estimate for 99,022 = 9?

0 110,000 o 9,000 o 900 0 11,000




